170/

OMB No 1545-0052

Department of the Treasury

Do not enter social security numbers on this form as it may be made public.

Internal Revenue Service

Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

2016

Open to	Put	olic In	spe	ction
	7.	720		17

For &	alendar year 2016 or tax year beginning	07	7/01 , 2016, and endi	ng	06/30, 2017
Name	e of foundation			A Employer identif	fication number
DRE	EW FOUNDATION			77-055238	37
Numb	per and street (or P O box number if mail is not delivered	to street address)	Room/suite	B Telephone numb	per (see instructions)
	RAMONA STREET			(650) 6	14-8219
City o	or town, state or province, country, and ZIP or foreign pos	tal code			
PAI	LO ALTO, CA 94301			C If exemption applic pending, check her	ation is e ▶ ☐]
G Ch	eck all that apply Initial return	Initial return	of a former public char	ty D 1. Foreign organiza	ations, check here
	Final return	Amended ret	turn	2 Foreign organiz	ations meeting the
	Address change	Name change	e /	85% test, check computation .	
H Che	eck type of organization X Section 501(c)(3) exempt private f	oundation 84		
	Section 4947(a)(1) nonexempt charitable trust	Other taxable pr	¥ 1	i '	on status was terminated b)(1)(A), check here
I Fai	r market value of all assets at J Acco	unting method X Ca	ash Accrual	I	s in a 60-month termination
enc	d of year <i>(from Part II, col. (c), line</i> Of	ther (specify)			o)(1)(B), check here . ▶
16)) ▶ \$ 11,162,662. (Part I, c	olumn (d) must be on cas	h basis)		
Part	Analysis of Revenue and Expenses (The	(a) Revenue and	(L) N = 1	/ A A A b b b c	(d) Disbursements
_	total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in	expenses per	(b) Net investment income	(c) Adjusted net income	for charitable purposes
	column (a) (see instructions))	books			(cash basis only)
1	Contributions, gifts grants, etc., received (attach schedule)	3,371,246.			<u> </u>
2	Check ► if the foundation is not required to attach Sch B				
3	Interest on savings and temporary cash investments.	4,313.	4,313.		ATCH 1
4	Dividends and interest from securities	200,317.	200,317.		ATCH 2
5a	Gross rents				
b	Net rental income or (loss)				<u> </u>
을 6g		702,086.			ļ
d ell	Gross sales price for all assets on line 6a 11,396,780.				ļ
6a b	Capital gain net income (from Part IV, line 2) .	·	2,993,827.		
8 8	Net short-term capital gain				
9 10 a	Income modifications			RECE	T/EPs
lu a	and allowances			, LUE	
	Less Cost of goods sold .		•	8 MAY 2 2	2018
- 1	Gross profit or (loss) (attach schedule)	-100.		<u>~ ~ ~ ~ ~ ~ ~ ~ ~ ~ </u>	2018
11	Other income (attach schedule) ATCH 3	4,277,862.	3,198,457.	OGDEN	
12	Total. Add lines 1 through 11	4,211,862.	3,198,437.	0000	, 01
n 13	Compensation of officers, directors, trustees, etc	0.			
14	Other employee salaries and wages	·	-1		
D 15	Pension plans, employee benefits	-			
16a		53,400.			<u> </u>
15 16 a b c 17 18 19 20 21 22		42,860.	42,860.		
C 17	Interest	-2,000.	,		
7 10	Taxes (attach schedule) (see instructions)[6].	732.	627.	·	
10	Depreciation (attach schedule) and depletion.				
20	Occupancy				
21	Travel, conferences, and meetings				
= 122	Printing and publications				†
2123	Other expenses (attach schedule) ATCH . 7.	1,904.			
24	Total operating and administrative expenses.	· · · · · · · · · · · · · · · · · · ·			
5 -	Add lines 13 through 23	98,896.	43,487.		
23 24 20 25	Contributions, gifts, grants paid	2,785,050.			2,785,050
26	Total expenses and disbursements Add lines 24 and 25	2,883,946.	43,487.	0	
27	Subtract line 26 from line 12				
a		1,393,916.			
b			3,154,970.		· · · · · · · · · · · · · · · · · · ·
	Adjusted net income (if negative, enter -0-).				

JSA For Paperwork Reduction Act Notice, see instructions 93444A 517K 5/7/2018 2:35:

2:35:19 PM

DRE001-07

Form 990-PF (2016)

_		Attached schedles and amounts in the	Beginning of year	E	End of year
Li	art II	Balance Sheets description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing			
		Savings and temporary cash investments	578,467.	1,690,0	71. 1,690,071
		Accounts receivable			
		Less allowance for doubtful accounts ▶			
	4	Pledges receivable ▶			
		Less allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach schedule)			
	l	Less allowance for doubtful accounts ▶			
ş		Inventories for sale or use			
Assets		Prepaid expenses and deferred charges			
As	i -	Investments - U S and state government obligations (attach schedule).			
i		Investments - corporate stock (attach schedule) ATCH 8	1,989,872.	5,216,6	00. 5,688,701
	c	Investments - corporate stock (attach schedule) ATCH 9	6,331,456.	3,487,4	
	11	Investments - land, buildings.			
		and equipment basis Less accumulated depreciation			
		(attach schedule)			
	12	Investments - mortgage loans	11,817.	11,4	28. 5,744
		land buildings and		··	
		equipment basis Less accumulated depreciation			
		(attach schedule)			
		Other assets (describe ►)			
		Total assets (to be completed by all filers - see the	0 011 612	10,405,5	28. 11,162,662
_		instructions Also, see page 1, item l)	8,911,612.	10,405,5	28. 11,102,002
	17	Accounts payable and accrued expenses	40,000.	140,0	00
	18	Grants payable	40,000.	140,0	00.
abilities	19	Deferred revenue			
≝	20	Loans from officers, directors, trustees, and other disqualified persons			_
iab		Mortgages and other notes payable (attach schedule)			
_	22	Other liabilities (describe ►)			
	23	Total liabilities (add lines 17 through 22)	40,000.	140,0	00.
		Foundations that follow SFAS 117, check here . ▶└│			
ces		and complete lines 24 through 26 and lines 30 and 31.			
ЗU	24	Unrestricted			
ale	25	Temporarily restricted			
18	26	Permanently restricted			
ŭ		Foundations that do not follow SFAS 117,			
Œ,		check here and complete lines 27 through 31.			
0	24 25 26 27 28 29 30 31	Capital stock, trust principal, or current funds	8,871,612.	10,265,5	28.
ets	28	Paid-in or capital surplus, or land, bldg, and equipment fund		· · · · - -	
SS	29	Retained earnings, accumulated income, endowment, or other funds			
۷	30	Total net assets or fund balances (see instructions)	8,871,612.	10,265,5	28.
9	31	Total liabilities and net assets/fund balances (see			
		instructions)	8,911,612.	10,405,5	28.
P	art III		nces		
		I net assets or fund balances at beginning of year - Part		nust agree with	
Ī		of-year figure reported on prior year's return)		-	8,871,612
2		r amount from Part I, line 27a			2 1,393,916
		er increases not included in line 2 (itemize)			3
		lines 1, 2, and 3			4 10,265,528
		reases not included in line 2 (itemize) ▶			5
		I net assets or fund balances at end of year (line 4 minus	line 5) - Part II, column (h	o). line 30	6 10,265,528
<u> </u>		THE PERSON AND PRINCIPLE OF THE PRINCIPLE OF THE PRINCIPLE OF THE PERSON	5)	·/ · · · · · · · · · · · · · · · · · ·	

DR	FOUNDATION	
	•	

Form 9	990-PF (2016)					Page 3
Part	V Capital Gains	and Losses for Tax on Inve	estment Income			
		d describe the kind(s) of property sold (-	(b) How acquired	(c) Date acquired	(d) Date sold
•	2-story br	rick warehouse, or common stock, 200	shs MLC Co)	P - Purchase D - Donation		(mo , day, yr)
1 a	SEE PART IV SCHE	DULE				
b					<u> </u>	
_с						
d					ļ	
<u>e</u>					<u> </u>	
	(e) Gross sales price	(f) Depreciation allowed	(g) Cost or other basis		(h) Gain or (lo	
	···	(or allowable)	plus expense of sale		(e) plus (f) mini	ıs (g)
<u>a</u>						
<u>b</u>						
_с						
<u>d</u>						
ее						
	Complete only for assets si	howing gain in column (h) and owned			Gains (Col (h) g	
(i)	F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col (i)	col	(k), but not less tLosses (from co	
		as 01 12/31/09	over col (j), if any			
<u>a</u>						
b_					····	
<u> </u>						
<u>d</u>						
ее		, If an	an also enter in Bort Line 7	-		
2	Capital gain net income	or (net canital loss)	ain, also enter in Part I, line 7	2	2	993,827.
3	Net short-term capital as	ii الله الله ain or (loss) as defined in sections	oss), enter -0- in Part I, line 7	2		7737021.
		art I, line 8, column (c) (see ins				
	-	• • •	f 1	3		0.
Part		Inder Section 4940(e) for Rec	duced Tax on Net Investment Ir	-		<u>-</u> _
			e section 4940(a) tax on net investr			
(, 0, 0	phonai use by domestic	private foundations subject to the	s acction 4040(a) tax on net investi	iicik iiicc	,,,,,	
If sect	tion 4940(d)(2) applies,	leave this part blank				
500	(ion 4040(d)(Z) applics,	icave this part blank				
Was t	he foundation liable for t	the section 4942 tax on the distrib	utable amount of any year in the ba	ase perio	d?	Yes X No
		not qualify under section 4940(e)				
			ar, see the instructions before making	ng anv ei	ntries	
	(a)	(b)	(c)	<u></u>	(d)	
Calend	Base period years dar year (or tax year beginning in)	Adjusted qualifying distributions	Net value of nonchantable-use assets		Distribution ra (col (b) divided by	
	2015	1,618,907.	9,801,991.			0.165161
	2014	1,058,116.	9,632,264.			0.109851
	2013	1,132,650.	9,381,156.			0.120737
	2012	677,000.	8,483,064.		_ *-	0.079806
	2011	718,000.	9,258,139.			0.077553
						
2 -	Total of line 1, column (c	4)		2		0.553108
	•		de the total on line 2 by 5, or by the			
	-	,	ss than 5 years	3		0.110622
•	idinoci oi yedio (ile iodi	ndation has been in existence in ic				
4 !	Enter the net value of no	uncharitable-use assets for 2016 f	rom Part X, line 5	4	10,	459,037.
7 (Liner the het value of ho	menantable-use assets for 2010 h	ioni i art X, inic 5		· · · · · · · ·	
5 1	Multiply line 4 by line 3			5	1.	157,000.
• 1	manuply line 4 by line 3.					
6 [Enter 1% of not invoctor	ent income (1% of Bod Line 375)		6		31,550.
U	Linci 170 of Het IIIve\$(IIIt	chi income (1700) Parti, line 270)		-		
7 /	Add lines 5 and 6			7	1,	188,550.
. /	wa mies a and U, , , ,			-		
8 6	Enter qualifying distributi	ions from Part XII line 4		8	2.	785,050.
			in Part VI, line 1b, and complete			
	Part VI instructions		, , , , , , , , , , , , , , , , , , , ,			

Х

8b

9

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General

Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2016 or the taxable year beginning in 2016 (see instructions for Part XIV)? If "Yes,"

Х

Х

)			77	-
_	 	 		-

Pai	rt VII-A Statements Regarding Activities (continued)		-	
11			Yes	No
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		Х
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified			
	person had advisory privileges? If "Yes," attach statement (see Instructions)	12		Х
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Х	
	Website address ► N/A			
14	The books are in care of ► JOHN L. DREW Telephone no ► 650 614	-82	9	
	Located at ► 528 RAMONA STREET PALO ALTO, CA ZIP+4 ► 94301			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		▶	
	and enter the amount of tax-exempt interest received or accrued during the year			
16	At any time during calendar year 2016, did the foundation have an interest in or a signature or other authority		Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		<u> </u>
	See the instructions for exceptions and filling requirements for FinCEN Form 114. If "Yes," enter the name of			
	the foreign country ▶			
Pai	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly)]		
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes X No			l
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a			
	disqualified person? Yes X No			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes X No			
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes X No		<u>'</u>	
	(5) Transfer any income or assets to a disqualified person (or make any of either available for			
	the benefit or use of a disqualified person)?			ļ
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the			
	foundation agreed to make a grant to or to employ the official for a period after	;		
	termination of government service, if terminating within 90 days)	Ì	}	
b	If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations	1b		
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b	 	<u> </u>
	Organizations relying on a current notice regarding disaster assistance check here	1		
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that	1c		X
,	were not corrected before the first day of the tax year beginning in 2016?	-10	 	
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5))	ļ		
а	At the end of tax year 2016, did the foundation have any undistributed income (lines 6d and	1		
•	6e, Part XIII) for tax year(s) beginning before 2016?			
	If "Yes," list the years			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)]	1	
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to			
	all years listed, answer "No" and attach statement - see instructions)	2b		
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here			
	•	1	ļ	
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise		ŀ	
	at any time during the year?			
b	If "Yes," did it have excess business holdings in 2016 as a result of (1) any purchase by the foundation or	}	1	}
	disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the			
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of			
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the			_
	foundation had excess business holdings in 2016)	3b	<u> </u>	
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a	<u> </u>	X
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its			
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2016?	4b	<u></u>	X

11-0332361	
	D

Part VIII	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employ and Contractors (continued)	rees,
3 ' Five h	ighest-paid independent contractors for professional services (see instructions). If none, enter "NONE	."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
ATCH 12		53,400.
Total number	er of others receiving over \$50,000 for professional services	<u> </u>
Part IX-A	Summary of Direct Charitable Activities	
	idation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of s and other beneficianes served, conferences convened, research papers produced, etc.	Expenses
1 N/A		
2		
3		
4		
Part IX-B	Summary of Program-Related Investments (see instructions)	·
	e two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1 NONE		
2		
All other pro	gram-related investments. See instructions	
3 NONE		
Total, Add I	nes 1 through 3	Form 990-PF (2016)

4	
	-
	•
•	

•	2501. (2010)		Page O
Par	Minimum Investment Return (All domestic foundations must complete this part. Forei see instructions.)	ign founda	tions,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes	į	
а	Average monthly fair market value of securities	1a	3,768,537.
b	Average of monthly cash balances	1b	1,048,615.
С	Fair market value of all other assets (see instructions)	1c	5,801,160.
d	Total (add lines 1a, b, and c)	1d	10,618,312.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	10,618,312.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see		
	instructions)	4	159,275.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4.	5	10,459,037.
6	Minimum investment return. Enter 5% of line 5	6	522,952.
Par		ndations	
	and certain foreign organizations check here ▶ and do not complete this part)		
1	Minimum investment return from Part X, line 6	1	522,952.
2 a	Tax on investment income for 2016 from Part VI, line 5 2a 31,550.]	
b	Income tax for 2016 (This does not include the tax from Part VI) 2b		
С	Add lines 2a and 2b	2c	31,550.
3	Distributable amount before adjustments Subtract line 2c from line 1	3	491,402.
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	491,402.
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII,		
	line 1	7	491,402.
Par	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
а	Expenses, contributions, gifts, etc - total from Part I, column (d), line 26	1a	2,785,050.
b	Program-related investments - total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	
þ	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	2,785,050.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income		
	Enter 1% of Part I, line 27b (see instructions)	5	31,550.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	2,753,500.
	Note: The amount on line 6 will be used in Part V column (b) in subsequent years when or	alculating v	thathar the foundation

qualifies for the section 4940(e) reduction of tax in those years

Page 9

Form 990-PF (2016)					Page 9
Part XIII Und	distributed Income (see Instruc	ctions)			
	amount for 2016 from Parl XI,	(a) Corpus	(b) Years prior to 2015	(c) 2015	(d) 2016 491,402.
	come, if any, as of the end of 2016				131,1021
	for 2015 only				
	ars 20 14 20 13 20 12				
	utions carryover, if any, to 2016	<u> </u>			
a From 2011 .	258,264.				
b From 2012 .	267,131.				
c From 2013 .					
d From 2014 .	610,271.				
e From 2015 .		2 077 051			
	Ba through e	2,977,951.		·	
line 4 ▶ \$	ributions for 2016 from Part XII, 2,785,050.				
a Applied to 201	5, but not more than line 2a				<u> </u>
	distributed income of prior years red - see instructions)				
	tributions out of corpus (Election nstructions)				
d Applied to 201	6 distributable amount	2 202 640			491,402.
ŭ	ount distributed out of corpus	2,293,648.			
(If an amount amount must b	tions carryover applied to 2016 appears in column (d), the same e shown in column (a))				
indicated bel		5,271,599.			
·	nes 3f, 4c, and 4e Subtract line 5	3,211,399.			
-	undistributed income Subtract				
c Enter the amo income for will been issued, o	punt of prior years' undistributed hich a notice of deficiency has or on which the section 4942(a) reviously assessed				
d Subtract line	6c from line 6b Taxable				
e Undistributed 4a from line	nstructions				
f Undistributed if 4d and 5 from	income for 2016 Subtract lines in line 1. This amount must be 017				
7 Amounts treate	ed as distributions out of corpus				
	quirements imposed by section				
	r 4942(g)(3) (Election may be instructions)				
	utions carryover from 2011 not 5 or line 7 (see instructions)	258,264.			
	ibutions carryover to 2017.	5,013,335.			
	7 and 8 from line 6a	3,013,333.			
10 Analysis of line	1 007 101				
a Excess from 20 b Excess from 20	701 202				
c Excess from 20	(10	ĺ			
d Excess from 20	1 140 003				
e Excess from 20	0 000 640		ļ		
					50m 990-PF (2016)

Form **990-PF** (2016)

	1 990-PF (2016)		IDATION	18 11/11		77-0	552387	Page 10
		erating Foundations					NOT AP	PLICABI
1 a	If the foundation has	received a ruling or d g is effective for 2016, e			٠ ١			./
h	Check box to indicate v	•			<u> </u>	4942(j)(3) or T	4942(j)(5)
b	Check box to indicate t	Tax year	is a private operating	Prior 3 years	Section	1 4942()(3) 01 1 1	4942()(3)
2 a	Enter the lesser of the ad-	(a) 2016	(b) 2015	(c) 2014	(d) 2	013	(e) 1	Total
	justed net income from Part I or the minimum investment		(6) 2010	(0)2014	(0, 2	013		
	return from Part X for each							
h	year listed		.,,		<u> </u>	,		
	85% of line 2a				 			
	Qualifying distributions from Part XII, line 4 for each year listed							
a	Amounts included in line 2c not used directly for active conduct of exempt activities			,				
е	Qualifying distributions made directly for active conduct of exempt activities. Subtract line 2d from line 2c							
3	Complete 3a, b, or c for the alternative test relied upon							
а	"Assets" alternative test - enter							
	(1) Value of all assets (2) Value of assets qualifying under section						· · · · · ·	
b	4942(j)(3)(B)(i) "Endowment" alternative test-		/		 			
	enter 2/3 of minimum invest-							
	ment return shown in Part X, line 6 for each year listed							
С	"Support" alternative test - enter							
	(1) Total support other than gross investment income (interest, diwdends, rents,							
	payments on securities loans (section 512(a)(5)) or royalties)						·	
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942							
	(3) Largest amount of support from an exempt							
	organization				 			
Pa	``	ntary Information (C	complete this part	only if the founda	tion had \$	5.000 or	more in	assets a
		uring the year - see		· · · · · · · · · · · · · · · · · · ·		,		
1	Information Regarding	g Foundation Manager	·s:					
а	List any managers of before the close of any						ed by the	foundation
	JOHN & ELLE	EN DREW, 528 RA	MONA STREET, P.	ALO ALTO, CA 94	1301			
b	List any managers of ownership of a partner				•	an equally	large por	tion of the
	NONE							
2	Information Regarding	g Contribution, Grant,	Gift, Loan, Scholarsh	nip, etc., Programs:				
	Check here $\triangleright X$ if the unsolicited requests for other conditions, comparisons	or funds. If the founda	ation makes gifts, gra	to preselected char ants, etc (see instruc	itable orga itions) to inc	nizations ai dividuals or	nd does i organizat	not accer iions unde
a	The name, address, a			the person to whom ap	plications sh	ould be add	ressed	
b	The form in which appl	lications should be sub	omitted and information	on and materials they	should inclu	ıde		
C	Any submission deadli	nes	· · · · · · · · · · · · · · · · · · ·					

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors

FOUNDATION

4	
•	,

FOINI 990-FF (2016)				Page I
Part XV Supplementary Information	(continued)		 	 -
3 Grants and Contributions Paid Dur	Ing the Year or Appl	roved for F		
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
a Paid during the year				
ATCH 13	1			
AICH 13				
		l l		
	į			
		1	·	
			,	
				1
Total			▶ 3a	2,785,050
b Approved for future payment				
		-		
Total			▶ 3h	·

JSA 6E1491 1 000

Form **990-PF** (2016)



Part XV	-A Analysis of Income-Prod	ucing Act	ivities			
	amounts unless otherwise indicated		ated business income	Excluded by	y section 512, 513, or 514	(e)
•		(a) Business code	(b) Amount	(c) Exclusion code	(d)	Related or exempt function income
_	n service revenue		· · · · · · · · · · · · · · · · · · ·	 		(See instructions)
						
						<u> </u>
				-		
						
f				-		
_	and contracts from government agencies					
	rship dues and assessments			14	4,313.	
	on savings and temporary cash investments.			14	200,317.	
	ds and interest from securities			17	200,317.	
	tal income or (loss) from real estate					
	t-financed property				 	
b Not	debt-financed property			 		
6 Net renta	al income or (loss) from personal property			24	-100.	
7 Other in	vestment income			18		
8 Gain or (loss) from sales of assets other than inventory			18	702,086.	
	ome or (loss) from special events · · ·					
	rofit or (loss) from sales of inventory					
	evenue a					
b						
d						
e					000 000	
	I Add columns (b), (d), and (e)			_	906,616.	206 616
13 Total A	dd line 12, columns (b), (d), and (e)				13	906,616
	heet in line 13 instructions to verify calcu					
Part XVI	B Relationship of Activities	S to the A	ccomplishment of E	xempt Pur	poses	
Line No.	Explain below how each activity			•		
▼	accomplishment of the foundation	n's exemp	t purposes (other than	by providing	funds for such purposes) (See instructions)
				-		
						
 -	·					
						
						·
						
						
						
						
			· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·	
					·	
						-
					_	
						
						
						
						
					-	
	<u> </u>					

93444A 517K 5/7/2018

Form 990-PF	`		NDATION Ansfers To and Transac	tions and sel	77-055			ge 13
	Exempt Organ		anororo ro una rransac	tions und ite	ationships with Non-	o, iai ii	ubic	•
			engage in any of the followi				Yes	No
		de (other than	section 501(c)(3) organization	ns) or in section	527, relating to political			
_	nizations?							ĺ
		_	a noncharitable exempt orga					,
			• • • • • • • • • • • • • • • • • • • •			1a(1)		X
• •	ther assets r transactions		• • • • • • • • • • • • • • • • • • • •			1a(2)		
(1) S	ales of assets to a no	ncharitable exer	mpt organization			1b(1)		X
(2) P	urchases of assets fro	om a noncharita	ble exempt organization			1b(2)		X
(3) R	ental of facilities, equi	pment, or other	assets			1b(3)		X
	_					1 1		X
(5) L	oans or loan guarantee	s				1b(5)		X
			ip or fundraising solicitations .					X
			ts, other assets, or paid emplo					Х
			s," complete the following s					
	-		ces given by the reporting for					
			gement, show in column (d)					
(a) Line no	(b) Amount involved	N/A	oncharitable exempt organization	N/A	of transfers, transactions, and sha	nng arrai	ngeme	nts
		N/A		N/A				
				 				
				 				
								
								
	·							
								
								
-								
		·						
	· · · · · · · · · · · · · · · · · · ·							
2a la tha	foundation dispaths	ar indirectly off	illiptod with as saleted to a					
			filiated with, or related to, o		_		s X	Пмо
	s," complete the follow	· ·	ther than section 501(c)(3)) o	i iii section 5277		'`		
	(a) Name of organization		(b) Type of organization		(c) Description of relations	ship		
	`.i		(1) // 13		(-)			
			<u></u>					
								
			ned this return including accompanying			ge and be	elief it	is true
	ect, and complete Declaration of	preparer (other than ta	expayer) is based on all information of which		·			
Sign	$()_{\circ}$		100,418	Secreta	May the IRS	discuss	this	return

650	210-5000	
	Form 990-PF (2	016)

May the IRS discuss this return with the preparer shown below

(see instructions)? X Yes

self-employed P00184685

▶77-0522698

Check

Firm's EIN

Phone no

Here

Paid

Preparer

Use Only

Firm's name

Firm's address

Print/Type preparer's name

TERESA A HOLLAND

▶ CTC MYCFO, LLC

PALO ALTO,

▶ 2200 GENG ROAD, SUITE 100

CA

94303

Schedule B

(Form 990, 990-EZ, or 990-PF)

Schedule of Contributors

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF.

OMB No 1545-0047

Department of the Treasury ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990 Internal Revenue Service Employer identification number Name of the organization DREW FOUNDATION 77-0552387

Filers of: Se Form 990 or 990-EZ Form 990-PF	501(c)() (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation dby the General Rule or a Special Rule. or (10) organization can check boxes for both the General Rule and a Special Rule See
	4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation
Form 990-PF	527 political organization X 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation ad by the General Rule or a Special Rule.
Form 990-PF	501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation ad by the General Rule or a Special Rule.
Form 990-PF	4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation ad by the General Rule or a Special Rule.
	501(c)(3) taxable private foundation ad by the General Rule or a Special Rule.
	ed by the General Rule or a Special Rule.
Note: Only a section 501(c)(7), (8), instructions General Rule	or (10) organization can check boxes for both the General Rule and a Special Rule See
X For an organization filing	Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 perty) from any one contributor. Complete Parts I and II. See instructions for determining a
contributor's total contribu	utions
regulations under sections 13, 16a, or 16b, and that \$5,000 or (2) 2% of the a	ribed in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3 % support test of the s 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990-EZ), Part II, line received from any one contributor, during the year, total contributions of the greater of (1) amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1 Complete Parts I and II ribed in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one
	ar, total contributions of more than \$1,000 <i>exclusively</i> for religious, charitable, scientific, rposes, or for the prevention of cruelty to children or animals. Complete Parts I, II, and III
contributor, during the year contributions totaled more during the year for an excl. General Rule applies to the	ribed in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one ar, contributions exclusively for religious, charitable, etc., purposes, but no such than \$1,000. If this box is checked, enter here the total contributions that were received flusively religious, charitable, etc., purpose. Don't complete any of the parts unless the his organization because it received nonexclusively religious, charitable, etc., contributions fluring the year

Caution: An organization that isn't covered by the General Rule and/or the Special Rules doesn't file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it doesn't meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF)

For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF

Schedule B (Form 990, 990-EZ, or 990-PF) (2016)

Name of organization DREW FOUNDATION

Employer identification number 77-0552387

Part I	Contributors (See instructions) Use duplicate cop	ues of Part I if additional space is n	eeded
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	JOHN AND ELLEN DREW 10271 WEST LOYOLA DRIVE LOS ALTOS, CA 94024	\$\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)

Schedule B (Form 990, 990-EZ, or 990-PF) (2016)

Schedule B (Form 990, 990-EZ, or 990-PF) (2016) Name of organization DREW FOUNDATION

Employer identification number 77-0552387

Part II Noncash Property (See instructions). Use duplicate copies of Part II if additional space is needed.

ej G II		3 of Fart II II additional space is need	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
1	4,496 SHARES LINKEDIN CORPORATION		!
		\$\$	07/07/2016
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
2	42 SHARES FACEBOOK INC		
		\$\$,207.	08/22/2016
a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
3	2,114 SHARES GREEN DOT CORPORATION		
		\$\$	08/26/2016
a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
4	9,159 SHARES ELECTRONIC ARTS		
		\$	08/31/2016
a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
5	330 SHARES BARRACUDA NETWORK		
		\$	11/08/2016
a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (See instructions)	(d) Date received
6	18,455 SHARES ELECTRONIC ARTS		,



Employer identification number 77-0552387

No.	duplicate copies of Part III if addit	onal space is needed.	
rom art I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, ar	nd ZIP + 4 Re	lationship of transferor to transferee
No. om irt 1	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, ar		lationship of transferor to transferee
No. om rt I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, ar	d ZIP + 4 Re	lationship of transferor to transferee
No.	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
_			

Part III Exclusively religious, charitable, etc., contributions to organizations described in section 501(c)(7), (8), or

FORM 990-PF - PART IV

. Kınd of F	Property	INS AND LO		cription		or D	Data	Date sold
Gross sale price less	Depreciation allowed/	Cost or other	FMV as of	Adj basis as of	Excess of FMV over	Ĭ	Gain or	
xpenses of sale	_allowable	basis	12/31/69	12/31/69	adj basis	\coprod	(loss)	
		TOTAL CAPI	TAL GAIN DIS	STRIBUTIONS			38,538.	
			ATTACHMENT A			P	VARIOUS	VARIOUS
1,917,983.		4,480,599.	IPE: SECURI.	1165			437,384.	
			ATTACHMENT A			P	VARIOUS	VARIOUS
5,452,565.		3,053,686.	YPE: SECURI	TIES		ļi	2,398,879.	
		1	ATTACHMENT E			Р	VARIOUS	VARIOUS
583,310.		527,223.	YPE: SECURIT	1162			56,087.	
			ATTACHMENT E			Р	VARIOUS	VARIOUS
196,969.		168,698.	IPE: SECURI.	ITES			28,271.	
			ATTACHMENT O			Р	VARIOUS	VARIOUS
170,824.		141,175.	IFE. SECORI.	1165			29,649.	
			ATTACHMENT O			P	VARIOUS	VARIOUS
36,565.		31,572.	IID. BECKI	1160			4,993.	
		CASH IN LIE	EU YPE: SECURIT	rtrs		Р	VARIOUS	VARIOUS
26.		I Not Bill 1		.130			26.	
OTAL GAIN(I	oss)						2,993,827.	
;							ı	l
							!	
							!	

		-				
						:
Calculation of Realized Gain						
Sale Date	Description	# of shares	cost basis/share	total cost basis	proceeds	nain///nice/
/7/201	S LINKEDIN CORP	4,496.00	109.39	491.809	855.889	364 080
19/201	8/19/2016 GUGGENHEIM LIMITED	0.1140	24.74	9	3	(0)
19/201	8/19/2016 GUGGENHEIM LIMITED	20,251.00	24.69	499,997	494,195	(5.802)
19/201	8/19/2016 CALAMOS CONVERTIBLE FUND	0.5320	16.92	6	6	7-1-1
19/201	8/19/2016 CALAMOS CONVERTIBLE FUND	16,835.00	14.85	250,000	272,079	22.079
21/201	11/21/2016 H & W VALUE OPPS FD A	0.6740	26.71	18	11	(1)
21/201	11/21/2016 H & W VALUE OPPS FD A	12,504.00	19.99	250,000	309,416	59,416
21/201	11/21/2016 C&S PREF SEC & INC A	25,697.00	13.62	349,993	342,677	(7,316)
21/201	11/21/2016 C&S PREF SEC & INC A	0.7060	14.16	10	6	(E)
21/201	11/21/2016 C&S PREF SEC & INC A	14,347.00	13.94	199,997	191,322	(8,676)
21/201	11/21/2016 LATEEF FUND CL A	0.2390	12.55	3	3	
21/201	11/21/2016 LATEEF FUND CL A	24,414.00	10.24	249,999	276,262	26,262
22/201	2/22/2017 POPLAR FOREST PARTNERS A	5,801.00	46.59	270,269	299,970	29,701
2/201	2/22/2017 POPLAR FOREST PARTNERS A	0.5860	52.90	31	30	<u>:</u>
20/201		350,000.00	1.02	358,548	348,887	(199'6)
3/20/2017	CONOCO INC 6.95% APR 15 29	250,000.00	1.31	327,527	316,100	(11,427)
3/20/2017		260,000.00	1.39	361,856	347,495	(14,361)
3/20/2017	7 JOHNSON & JOHNSON 6.95% 29	700,000.00	0.14	97,423	93,556	(3,866)
28/201	3/28/2017 FEDRTD STRGC VL DIV FD A	0.5140	5.89	က	8	0
3/20/2017	7 CALAMOS MKT NTRL INC A	22,761.00	12.89	293,389	297,056	3,667
20/201	3/20/2017 CALAMOS MKT NTRL INC A	0.2160	12.87	8	e	0
20/201	3/20/2017 CALAMOS MKT NIRL INC A	0.5440	13.05	<u>, </u>	7	•
23/201		4,931.00	46.59	229,735	239,597	9,862
107/57	5/23/2017 POPLAR FOREST PARTNERS A	0.4110	52.04	1.7	07	(1)
73/20	SIZSIZUT PUPLAR FUREST PARTNERS A	4,803.00	52.04	249,948	233,378	(16,570)
	Total STCG/L			4,480,599	4,917,983	437,384
Sale Date	Description	# of shares	cost basis/share	total cost basis	proceeds	gain/(loss)
22/201	8/22/2016 FACEBOOK INC	17.00	8.62	147	2.066	1,920
22/201	8/22/2016 FACEBOOK INC	25.00	8.62	216	3,039	2,823
26/201	8/26/2016 GREEN DOT CORP CL A	2,114.00	5.10	10,777	49,175	38,398
31/201	8/31/2016 ELECTRONIC ARTS INC	8,029.00	21.86	175,547	652,894	477,347
31/201	8/31/2016 ELECTRONIC ARTS INC	1,130.00	20.87	23,586	91,888	68,302
/8/201	11/8/2016 BARRACUDA NETWORKS INC	330.00	8.63	2,847	8.29,7	4,831
1/201	11/21/2016 H & W VALUE OPPS FD A	00.906,9	28.96	199,998	177,271	(22,726)
21/201	11/21/2016 H & W VALUE OPPS FD A	8,636.00	28.95	250,012	221,679	(28,333)
21/201						TRUCK PRI

FYE 6/30/2017 ML 2GP-07188						
L 2GP-07188					-	
Calculation of Realized Gain						
Date Acquired Sale Date	Description	# of shares	cost basis/share	total cost basis	proceeds	gain/(loss)
7/27/2015 2/22/2017	2/22/2017 JPM UNDIS MGR BEH VAL A	5,674.00	57.29	325,063	368,980	43,917
9/22/2015 2/22/2017	2/22/2017 JPM UNDIS MGR BEH VAL A	0.3040	55.07	11	20	e
2/24/2015 2/21/2017	2/21/2017 HARTFORD BAL INCOME CL A	25,528.00	13.71	349,989	390,096	10,977
5/22/2015 2/21/2017	2/21/2017 HARTFORD BAL INCOME CL A	10,738.00	13.97	150,010	151,835	1,825
11/23/2015 2/21/2017	2/21/2017 HARTFORD BAL INCOME CL A	0.8260	13.70	=	12	0
11/23/2015 2/21/2017	2/21/2017 HARTFORD BAL INCOME CL A	14,652.00	13.65	200,000	207,179	7,179
6/25/2013 2/22/2017	2/22/2017 NUVEEN SANTA BARBARA DIV GRW	8,023.00	29.05	233,068	299,980	66,912
6/26/2013 2/22/2017		0.0910	29.01	m	m	1
9/22/2015 2/22/2017	2/22/2017 NUVEEN SANTA BARBARA DIV GRW	0.4450	34.27	15	11	-
2/18/2015 3/28/2017	3/28/2017 FEDERATED STRATEGIC	40,387.21	6.03	243,535	249,997	6,462
VARIOUS 5/30/2017	5/30/2017 ELECTRONIC ARTS INC	18,455.00	20.30	374,578	2,069,162	1,694,585
VARIOUS 6/23/2017	6/23/2017 GATEWAY FUND CL A	9,270.71	28.51	264,284	300,000	35,716
	Total LTCG/L			3.053.686	5.452.565	2,398.879

Caculation of Railzed Gain Description # of shares cost basis/share total cost basis proceeds 2/28/2016 7/15/2016 PFIZER INC 400.00 29.88 11/392 14/796 4/29/2016 7/15/2016 PFIZER INC 400.00 32.57 29.313 33.290 4/29/2016 7/15/2016 PFIZER INC 900.00 30.51 29.88 45.716 50.103 4/29/2016 7/12/2016 VERZON COMMUNICATIONS COM 50.00 48.68 63.670 59.77	DREW FAMILY FOUNDATION FYE 6/30/2017 ML 2GP-07167	FOUNDATIO	Z			d	prepared by myCFO.	4.24.18
Sale Date Description # of shares cost basis/share total cost basis 7/15/2016 PFIZER INC 400.00 259.98 11,992 7/11/2016 VERIZON COMMUNICATIONS COM 50.00 30.31 25,734 7/11/2016 VERIZON COMMUNICATIONS COM 50.00 48.35 9,970 7/11/2016 VERIZON COMMUNICATIONS COM 900.00 48.35 9,970 7/11/2016 VERIZON COMMUNICATIONS COM 900.00 48.35 9,970 7/11/2016 VERIZON COMMUNICATIONS COM 1,300.00 48.35 9,970 9/11/2017 WELLS FARGO & CO 1,300.00 29.55 88.652 9/11/17/2017 MELLIFE INC 200.00 44.35 88.652 11/17/2017 MICROSOFT CORP 700.00 43.78 45.78 11/17/2017 MICROSOFT CORP 700.00 43.76 29.015 11/17/2017 MICROSOFT CORP 700.00 43.76 29.015 11/17/2017 METLIFE INC 800.00 43.76 29.015 31/2017 CARLIVE CORP 100.00 43.46 52/13.28 11/17/2017 METLIFE INC 100.00 43.46	Calculation of R	ealized Gair						
7/15/2016 PFIZER INC 7/15/2016 PFIZER INC 7/15/2016 PFIZER INC 7/15/2016 PFIZER INC 7/11/2016 VERIZON COMMUNICATIONS COM 7/11/2017 MICROSOFT CORP 7/11/2017 MICROS	Date Acquired	Sale Date	Description	# of shares	cost basis/share	total cost basis	proceeds	gain(loss)
7/15/2016 PFIZER INC 7/11/2016 VERIZON COMMUNICATIONS COM 7/11/2016 VERIZON COMMUNICATIONS COM 7/11/2016 VERIZON COMMUNICATIONS COM 7/11/2016 WELLS FARGO & CO 9/20/200 9/21/2016 WELLS FARGO & CO 9/20/200 9/21/2016 WELLS FARGO & CO 9/20/200 9/20/2016 WELLS FARGO & CO 9/20/2016 WELLS FARGO & CO 9/20/2016 WELLS FARGO & CO 9/20/2017 WELLS FARGO & CO 1/17/2017 METLIFE INC 1/17/2017 MICROSOFT CORP 1/17/2017 METLIFE INC 9/20/2017 CARNIVAL CORP PAIRED 1/20/2017 CARNIVAL CORP PAIRED 1/20/2017 CARNIVAL CORP PAIRED 1/20/2017 CARNIVAL CORP PAIRED 1/20/2016 VERIZON COMMUNICATIONS COM 1/20/2016 VERIZON COMMUNICATIONS COM 1/20/2016 WELLS FARGO & CO 1/20/2017 CARNIVAL CORP PAIRED 1/20/2016 WELLS FARGO & CO 1/20/2017 CARNIVAL CORP PAIRED	2/29/2016		PFIZER INC	400.00	29.98	11,992	14,796	2,803.71
7/11/2016 VERIZON COMMUNICATIONS COM 557 00 50.81 26.776 7/11/2016 VERIZON COMMUNICATIONS COM 900.00 50.26 45.34 7/11/2016 WELLS FARGO & CO 1.300.00 48.98 63.570 7/11/2016 WELLS FARGO & CO 1.300.00 48.98 63.570 7/11/2016 WELLS FARGO & CO 1.300.00 48.98 63.570 7/11/2017 METLIS FARGO & CO 1.300.00 10.550 19.040 7/11/2017 METLISE INC 700.00 10	4/29/2016		PFIZER INC	900.00	32.57	29,313	33,290	3,977.37
7/11/2016 VERIZON COMMUNICATIONS COM 900.00 50.26 45,234 7/14/2016 WELLS FARGO & CO 200.00 48.85 9,970 9/12/2016 WOLLS FARGO & CO 1,300.00 28.55 88.652 1/17/2017 METLIFE INC 200.00 49.78 19,040 1/17/2017 MICROSOFT CORP 100.00 49.78 29,015 1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 1/17/2017 MICROSOFT CORP 100.00 49.78 4,45 29,015 1/17/2017 MICROSOFT CORP 100.00 41.45 29,015 1/17/2017 MICROSOFT CORP 100.00 49.78 4,45 29,015 1/17/2017 MICROSOFT CORP PAIRED 100.00 49.78 4,45 29,015 1/17/2017 MICROSOFT CORP PAIRED 100.00 51,47 36,029 1/17/2017 MICROSOFT CORP PAIRED 100.00 51,47 36,029 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 70.00 100.	4/29/2016	⊢	VERIZON COMMUNICATIONS COM	527.00	50.81	26,776	29,338	2,562.46
7/14/2016 WELLS FARGO & CO 200 00 49.85 9.970 9/21/2016 WELLS FARGO & CO 1,300.00 48.98 63,670 1/2/22/2016 WELLS FARGO & CO 1,300.00 48.95 88,652 1/2/22/2016 WODDFONE GROUP PLC 2,000.00 95.20 19,040 1/17/2017 MFTLIFE INC 700.00 41.45 29,015 1/17/2017 MICROSOFT CORP 100.00 43.78 4,978 1/17/2017 MICROSOFT CORP 700.00 41.45 29,015 1/17/2017 MICROSOFT CORP 700.00 41.45 29,015 1/17/2017 MICROSOFT CORP 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 41.40 59,277 3/7/2017 METLIFE INC 800.00 41.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 A/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 52,723 A/26/2017 CARNIVAL CORP PAIRED 700.00 49.40 53,727 A/1/1/2016 WELLS F	5/4/2016		ATIO	900.00	50.26	45,234	50,103	4,869.36
9121/2016 WELLS FARGO & CO 1,300.00 48.98 63,670 12/22/2016 VODAFONE GROUP PLC 3,000.00 59.55 88,652 14/17/2017 MICROSOFT CORP 300.00 51.24 15,373 14/17/2017 MICROSOFT CORP 300.00 51.24 15,373 14/17/2017 MICROSOFT CORP NEW CLA 700.00 60.59 42,413 14/17/2017 MICROSOFT CORP PAIRED 1,200.00 49.40 59,78 14/17/2017 MICROSOFT CORP PAIRED 1,200.00 49.40 59,77 14/12016 METLIFE INC 800.00 700.00 51.47 36,029 14/14/2016 WELLS FARGO & CO 700.00 50.52 35,362 14/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 14/17/2017 Total LT CG/CL 700.00 700.00 76.99 23,098 14/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098	4/29/2016		WELLS FARGO & CO	200.00	49.85	9,970	008'6	(169.67
1/17/2017 APPLE INC 3,000.00 29.55 88,652 1/17/2017 APPLE INC 200.00 95.20 19,040 1/17/2017 DISNEYIWALT) CO COM 200.00 41.45 20,089 1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 1/17/2017 MICROSOFT CORP 700.00 49.78 42,413 2/6/2017 COMCAST CORP NEW CL A 700.00 49.78 42,413 2/6/2017 MICROSOFT CORP NEW CL A 700.00 49.78 42,413 3/7/2017 MICROSOFT CORP NEW CL A 700.00 49.78 42,413 3/7/2017 MICROSOFT CORP NEW CL A 700.00 49.78 42,413 3/7/2017 MICROSOFT CORP NEW CL A 700.00 49.78 42,413 3/7/2017 MICROSOFT CORP PAIRED 1,200.00 49.46 29,015 3/7/2017 MICROSOFT CORP PAIRED 1,200.00 49.40 59,015 3/7/2017 MICROSOFT CORP PAIRED 1,200.00 49.40 51,450 3/7/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 WELLS FARGO & CO 700.00 51.47 36,029	VARIOUS		WELLS FARGO & CO	1,300.00	48.98	63,670	59,276	(4,394.08
1/17/2017 APPLE INC 200.00 95.20 19,040 1/17/2017 DISNEY(WALT) CO COM 200.00 103.50 20,699 1/17/2017 METLIFE INC 300.00 49.78 4.978 1/17/2017 MICROSOFT CORP 100.00 49.78 42,413 2/6/2017 COMCAST CORP NEW CL A 700.00 60.59 42,413 2/6/2017 COMCAST CORP NEW CL A 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 49.40 59,015 3/7/2017 METLIFE INC 800.00 49.40 59,015 3/7/2017 METLIFE INC 800.00 49.40 59,015 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,015 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 WELLS FARGO & CO 700.00 50.52 35,029 1/17/2017 VANGUARD DIVIDEND 700.00	9/21/2016	<u> </u>	VODAFONE GROUP PLC	3,000.00	29.55	88,652	74,058	(14,593.91)
1/17/2017 DISNEY(WALT) CO COM 200.00 41.45 20,699 1/17/2017 METLIFE INC 700.00 41.45 29.015 1/17/2017 METLIFE INC 100.00 41.45 29.015 2/202017 COMCAST CORP NEW CLA 700.00 41.45 29.015 3/7/2017 METLIFE INC 800.00 49.46 59.277 3/7/2017 METLIFE INC 800.00 49.46 59.277 3/7/2017 METLIFE INC 800.00 49.40 59.277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59.277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 527.223 E 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/14/20 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/11/2016 VELLS FARGO & CO 700.00 700.00 70.00 9/21/2016 VANGUARD DIVIDEND 300.00 76.99 23,168 7/17/2017 <td>5/4/2016</td> <td></td> <td>APPLEINC</td> <td>200.00</td> <td>95.20</td> <td>19,040</td> <td>23,643</td> <td>4,603.48</td>	5/4/2016		APPLEINC	200.00	95.20	19,040	23,643	4,603.48
1/17/2017 METLIFE INC 700.00 41.45 29,015 1/17/2017 MICROSOFT CORP 300.00 51.24 15,373 1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 2/6/2017 COMCAST CORP NEW CLA 700.00 60.59 42,413 3/7/2017 METLIFE INC 800.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/15/2016 VERIZON COMMUNICATIONS COM 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 50.52 35,352 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,088 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,088	5/4/2016	i 	DISNEY(WALT) CO COM	200.00	103.50	20,699	21,610	910.09
1/17/2017 MICROSOFT CORP 300.00 51.24 15,373 1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 2/6/2017 COMCAST CORP NEW CLA 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 50.52 35,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,029 1/17/2016 WELLS FARGO & CO 700.00 50.52 35,029 1/17/2017 VANUARD DIVIDEND 300.00 76.99 23.08 1/17/2017 VALLE COCL 700.00 700.00 700.00	8/8/2016		METLIFE INC	700.00	41.45	29,015	37,554	8,539.60
1/17/2017 MICROSOFT CORP 100.00 49.78 4,978 2/6/2017 COMCAST CORP NEW CL A 700.00 60.59 42,413 2/6/2017 COMCAST CORP NEW CL A 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 39.76 31,808 3/7/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098	3/7/2016		MICROSOFT CORP	300.00	51.24	15,373	18,804	3,430.92
2/6/2017 COMCAST CORP NEW CLA 700.00 60.59 42,413 3/7/2017 METLIFE INC 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 39.76 59,015 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2017 CARNIVAL CORP PAIRED 2,400.00 21.44 51,450 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 56.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Total LT CG/CL Total LT CG/CL 300.00 76.99	4/29/2016	1	MICROSOFT CORP	100.00	49.78	4,978	6,268	1,290.18
3/7/2017 METLIFE INC 700.00 41.45 29,015 3/7/2017 METLIFE INC 800.00 39.76 31,808 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 WELLS FARGO & CO 700.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 50.52 35,362 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Total LT CG/CL 23,098 11	5/4/2016		DRP NEW CL.	200.00	69.09	42,413	52,158	9,744.75
3/7/2017 METLIFE INC 800.00 39.76 31,808 4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 50.52 35,362 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Total LT CG/CL 1/17/2017 Total LT CG/CL 1/168,698 1	8/8/2016		METLIFE INC	700.00	41.45	29,015	37,378	8,362.92
4/26/2017 CARNIVAL CORP PAIRED 1,200.00 49.40 59,277 Total ST CG/CL 527,223 5 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Total LT CG/CL 1/168,698 1	8/12/2016	, 	METLIFE INC	800.00	39.76	31,808	42,717	10,909.15
Total ST CG/CL 527,223 5 7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Total LT CG/CL 1,168,698 1	10/3/2016	<u> </u>	CARNIVAL CORP PAIRED	1,200.00	49.40	59,277	72,518	13,240.66
7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 7/17/2017 Total LT CG/CL			Total ST CG/CL			527,223	583,310	56,087
7/15/2016 GENERAL ELECTRIC 2,400.00 21.44 51,450 7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 Total LT CG/CL								1
7/11/2016 VERIZON COMMUNICATIONS COM 473.00 48.11 22,758 7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 1/17/2017 Cotal LT CG/CL	4/22/2013	1	GENERAL ELECTRIC	2,400.00	21.44	51,450	78,670	27,220.28
7/14/2016 WELLS FARGO & CO 700.00 51.47 36,029 9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 Total LT CG/CL 300.00 76.99 23,098	2/28/2014	ļ_	SN	473.00	48.11	22,758	26,332	3,573.60
9/21/2016 WELLS FARGO & CO 700.00 50.52 35,362 1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 Total LT CG/CL 168,698	10/27/2014	7/14/2016		700.00	51.47	36,029	34,301	(1,727.36
1/17/2017 VANGUARD DIVIDEND 300.00 76.99 23,098 Total LT CG/CL 168,698 1	11/25/2014	· 	WELLS FARGO & CO	700.00	50.52	35,362	31,918	(3,444.74
	10/27/2014		VANGUARD DIVIDEND	300.00	76.99	23,098	25,748	2,650.19
			Total LT CG/CL			168,698	196,969	28,272
						_		

FYF 6/30/2017					4+	prepared by myoru.	4.24.18
ML 2GP-07168							
1	<u> </u>						
Calculation of Realized Gain	ized Gain						
Date Acquired S	Sale Date	Description	# of shares	cost basis/share	total cost basis	proceeds	gain/(loss)
				1			
5/11/2016 7	7/11/2016	7/11/2016 FORTIVE CORP	88.00		4,114	4,416	302.24
2/26/2016	7/5/2016	7/5/2016 HERSHEY COMPANY	174.00	90.47	15,742	19,399	3,657.08
2/26/2016	9/7/2016	ILLINOIS TOOL WORKS INC	230.00		21,835	27,432	5,597.57
2/26/2016 10	0/17/2016	10/17/2016 DIAGEO PLC SPCD ADR NEW	201.00	103.26	20,755	21,633	878.13
	0/17/2016	10/17/2016 DIAGEO PLC SPCD ADR NEW	62.00	114.63	7,107	6,673	(434.40)
2/26/2016	1/9/2017	1/9/2017 FIRST REP BK SAN FRANCISC	116.00	63.63	7,381	10,682	3,300.66
2/26/2016	2/9/2017	2/9/2017 TEXAS INSTRUMENTS	469.00	53.26	24,978	35,548	10,569.45
9/21/2016	2/9/2017	2/9/2017 TEXAS INSTRUMENTS	129.00	69.12	8,917	6,777	860.75
2/26/2016	2/15/2017	2/15/2017 TIME WARNER INC	81.00	66.94	5,422	7,800	2,378.41
	6/19/2017 (6/19/2017 COTY INC CL A	264.00	24.01	966,9	5,083	(1,255.07)
12/22/2016	6/19/2017 (COTY INC CL A	511.00	18.62	9,512	828'6	325.64
9/21/2016	6/1/2017	6/1/2017 DEERE CO	00.09	82.57	4,954	7,526	2,572.03
12/22/2016	6/1/2017 (6/1/2017 CEERE CO	40.00	103.05	4,122	5,017	895.69
	-	Total ST CG/CL			141,175	170,824	29,648
2/26/2016	6/19/2017	6/19/2017 COTY INC CL A	518.00	28.44	14,733	6,973	(4,760.40)
2/26/2016	6/1/2017	6/1/2017 DEERE CO	212.00	79.43	16,839	26,593	9,753.71
		Total LT CG/CL			31,572	36,565	4,993

DREW FOUNDATION

1

ATTACHMENT 1

	ı	l
r۸	ı	ľ
~ ,		
5		
~		
INVESTME	1	
Σ		
ы		
ĪΛ		
r_1	i	l
벋		
2		ı
z	i	
Н	ì	
	ı	
Τ.	I	
7	l	
-	I	
Ρų	Į	
U	I	
	I	
\vdash	I	
TEMPORARY CASH	Ì	
ΚAF	ł	
>	I	
볏	Į	
Ų	ı	
щ	i	
Σ	I	
囸	Į	
\Box	Į	
٠,	۱	
_	l	
⋍	I	
NTEREST ON		ı
	ı	
\Box	ı	
TEREST	Ì	
-1	ı	
≂	ı	
	ı	
긔	ł	ļ
Η		
z	ı	
-	Į	
	ĺ	Į
	I	
•	l	
	i	
_		ı
	۱	١
-	ł	
\mathbf{x}	I	Į
ď		
~∵	l	ı
		ı
. `		
1	Į	
7	١	١
\supset		
בֿכ	Į	
Ź.,	ĺ	
٠,	l	ļ
≥,	Į	
Υ,	ĺ	Į
\circ	l	ı
Ē	۱	١
FOKE WWOFF	ı	ı

NET INVESTMENT INCOME	11,593. 88. 32. -18,800. 11,400.	4,313.
REVENDE AND EXPENSES PER BOOKS	11,593. 88. 32. -18,800. 11,400.	4,313.
DESCRIPTION	MERRILL LYNCH 07188 MERRILL LYNCH 07167 MERRILL LYNCH 07168 MERRILL LYNCH 07188 - BOND PAID INTEREST MERRILL LYNCH 07188 - BOND ACCRUED INT	TOTAL

DRE001-07

77-0552387

ATTACHMENT 2

2:35:19 PM 93444A 517K 5/7/2018

T FROM SECURITIES	
FROM	
INTEREST	
AND	
DIVIDENDS	
ı	
PART I	
990PF,	
FORM	

	NET	INVESTMENT	INCOME	119,344.	47,749.	33,224.		200,317.
REVENUE	AND	EXPENSES	PER BOOKS	119,344.	47,749.	33,224.		200,31/.
							E E E	TOTAL
			DESCRIPTION	MERRILL LYNCH 07188	MERRILL LYNCH 07167	MERRILL LYNCH 07168		

ATTACHMENT 2 PAGE 22

DESCRIPTION

ML - PFIC INCOME/(LOSS)

ATTACHMENT 3

FORM 990PF, PART I - OTHER INCOME

REVENUE AND EXPENSES

PER BOOKS

-100.

-100.

TOTALS

93444A 517K 5/7/2018 2:35:19 PM

DRE001-07

FORM 990PF, PART I - ACCOUNTING FEES DESCRIPTION ACCOUNTING FEES PERP	REVENUE AND EXPENSES PER BOOKS	NET INVESTMENT INCOME	ADJUSTED C INCOME	T7-0552387 SNT 4 CHARITABLE PURPOSES
TOTALS	53,400.			

1

FORM 990PF, PART I - OTHER PROFESSIONAL FEES

NET INVESTMENT INCOME	180. 20,765. 21,915.
REVENUE AND EXPENSES PER BOOKS	180. 20,765. 21,915.
DESCRIPTION	ML ACCT 7188 ML ACCT 7167 ML ACCT 7168

42,860.

42,860.

TOTALS

ATTACHMENT 6

DREW FOUNDATION

TAXES	
1	
Η.	l
PART	
990PF,	
FORM	

NET INVESTMENT INCOME	627.
REVENUE AND EXPENSES PER BOOKS	105. 627.
N	ES X
DESCRIPTION	TAXES & FEES FOREIGN TAX

TOTALS

627.

93444A 517K 5/7/2018 2:35:19 PM

DRE001-07

ATTACHMENT 7

FORM 990PF, PART I - OTHER EXPENSES

REVENUE AND

EXPENSES PER BOOKS
1,904.

DESCRIPTION OTHER EXPENSES

TOTALS

1,904.

ATTACHMENT 8

DREW FOUNDATION

TOCK	
ഗ	
CORPORATE	
ı	ľ
ΙΙ	
PART	
990PF,	
۱'`	l

ENDING FMV	1,532,730. 1,874,220. 2,281,751. 5,688,701.	
ENDING BOOK VALUE	1,603,045. 1,717,701. 1,895,854. 5,216,600.	
BEGINNING BOOK VALUE	3,045. 1,032,530. 954,297. 1,989,872.	
DESCRIPTION	VARIOUS SECURITIES - ML 07188 VARIOUS SECURITIES - ML 07167 VARIOUS SECURITIES - ML 07168 TOTALS	

93444A 517K 5/7/2018 2:35:19 PM

ATTACHMENT 9

FORM 990PF, PART II - CORPORATE BONDS

ENDING <u>FMV</u>	517,101. 543,327.	491,815. 550,441. 750,582. 525,430. 83,561. 87,605. 64,869.	3,778,146.
ENDING BOOK VALUE	506,601. 492,816.	424,920. 506,470. 750,002. 434,292. 76,649. 76,624. 88,510. 53,896.	3,487,429.
BEGINNING BOOK VALUE	350,000. 757,100. 250,003. 350,000. 500,000.	50,0 000,0 000,0 67,3 76,6 76,6 76,9 76,0 50,0	6,331,456.
DESCRIPTION	CALAMOS MARKET NEUTRAL GATEWAY FUND LATEEF FUND CL A COHEN & STEERS PFD SECS GUGGENHEIM LIMITED HARTFORD BALANCED INCOME	JP MORGAN UNDISC MGRS FEDERATED STRATEGIC LORD ABBETT FLOATING NUVEEN SANTA BARBARA NATIXIS GATEWAY FUND CL PUTNAM ABSOLUTE RETURN SALIENT EM VANGUARD DIVIDEND COHEN & STEERS PFD SECS CALAMOS CONVERTIBLE FUND HOTCHKIS & WILEY VALUE	TOTALS

ı	$\overline{}$
ı	_
۱	_
ı	
ı	
ł	-
ľ	\vdash
ı	-
ı	~
ı	
ı	ы
ı	☴
ŀ	
ľ	~
ı	:T:
ı	
ı	
ı	_
ı	er
ı	м
ı	\vdash
١	
	\vdash
	_
	~
	PL,

FORM 990PF, PART II - OTHER INVESTMENTS

ENDING FMV	5,7
ENDING BOOK VALUE	11,428.
BEGINNING BOOK VALUE	11,817.
DESCRIPTION	COAST ACCESS II LTD CLASS 1

TOTALS

5,744.

5,744.

ATTACHMENT 10 PAGE 30 }

77-0552387		ACCT .		
•	ATTACHMENT 11	EXPENSE ACCT AND OTHER ALLOWANCES		
	ATTACI	CONTRIBUTIONS TO EMPLOYEE BENEFIT PLANS	.0	.0
		COMPENSATION	.0	.0
2016 FORM 990-PF	FORM 990PF, PART VIII - LIST OF OFFICERS, DIRECTORS, AND TRUSTEES	TITLE AND AVERAGE HOURS PER WEEK DEVOTED TO POSITION	PRESIDENT 1.00	SECRETARY/TREASURER 1.00
DREW FOUNDATION	FORM 990PF, PART VIII - LIST	NAME AND ADDRESS	ELLEN TODD DREW 528 RAMONA STREET PALO ALTO, CA 94301	JOHN L. DREW 528 RAMONA STREET PALO ALTO, CA 94301

GRAND TOTALS

DRE001-07

ATTACHMENT 11 PAGE 31

2016 FORM 990-PF

DREFFOUNDATION

77-0552387

990PF, PART VIII- COMPENSATION OF THE FIVE HIGHEST PAID PROFESSIONALS

ATTACHMENT 12

NAME AND ADDRESS

TYPE OF SERVICE COMPENSATION

CTC MYCFO

ACCOUNTING

53,400.

2200 GENG ROAD, SUITE 100 PALO ALTO, CA 94303

TOTAL COMPENSATION

53,400.

77-0552387

FORM 990PE, PART XV - GRANTS AND CONTRIBUTIONS PAID DURING THE YEAR

ATTACHMENT 13

PAMOUNT	12,050.	125, 000.	250,000.	200,000.	25,000	40,000.
PURPOSE OF GRANT OR CONTRIBUTION	GENERAL CHARITABLE PURPOSE	GENERAL CHARITABLE PURPOSE	GENERAL CHARITABLE PURPOSE	GENERAL CHARITABLE PURPOSE	GENERAL CHARIABLE PURPOSES	GENERAL CHARITABLE PURPOSES
RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR AND FOUNDATION STATUS OF RECIPIENT	NONE PC	NONE PC	NONE PC	NONE PC	NONE PC	NONE PC
RECIPIENT NAME AND ADDRESS	PROSTATE CANCER FOUNDATION 1250 FOURTH STREET SANTA MONICA, CA 90401	SALEM ACADEMY 6 COLLEGE 601 CHURCH ST SOUTH WINSTON SALEM, NC 27101	CANARY FOUNDATION 805 VETERANS BLVD , SUITE 301 REDWOOD CITY, CA 94063	SENTINELS OF FREEDOM SCHOLARSHIP FOUNDATION P O.BOX 1316 SAN RAMON, CA 94583	KQED 2601 MARIPOSA STREET SAN FRANCISCO, CA 94110	BEST BUDDIES CHALLENGES 100 SOUTHEAST SECOND ST, STE 2200 MIAMI, FL 33131

2016 FORM 990-PF

77-0552387

ATTACHMENT 13 (CONT'D)

	ľ
	l
	ļ
AH	1
YEA	ı
ш	۱
Ξ	i
IG THE	Ì
Z	Ì
DURING	
	۱
AID	١
PA	1
S	١
BUTIONS	Į
I	١
ä	
RI	l
E	I
Ó	ļ
7	l
亅	ļ
4	l
S	Į
₹	l
8	ł
	l
>	ĺ
×	l
돲	l
PART	1
1	l
닖	Ì
힗	١
허	l
Σį	l
Ö	١
•41	ı

	RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR		•
	AND		
RECIPIENT NAME AND ADDRESS	FOUNDATION STATUS OF RECIPIENT	PURPOSE OF GRANT OR CONTRIBUTION	AMOUNT
SECOND HARVEST	NONE	GENERAL CHARITABLE PURPOSES	100,000.
4001 NORTH FIRST STREET	PC		
SAN JOSE, CA 95134			
NORWICH UNIVERSITY	NONE	GENERAL CHARITABLE PURPOSES	100,000.
158 HARMON DRIVE	PC		
NORTHFIELD, VT 05663			
REWORK PROJECT	NONE	GENERAL CHARITABLE PURPOSE	125,000.
4201 S. CONGRESS AVE, SUITE 303	PC		
AUSTIN, TX 78745			
SPRINGFIELD YMCA	NONE	GENERAL CHARITABLE PURPOSE	42,000.
701 SOUTH 4TH STREET	PC		
SPRINGFIELD, 1L 62703			
PART THE CLOUD	NONE	GENERAL CHARITABLE PURPOSE	10,000.
2290 N 1ST STREET, SUITE 101	PC		
SAN JOSE, CA 95131			
WOMEN OF PURPOSE	NONE	GENERAL CHARITABLE PURPOSE	1,000,000.
601 SOUTH CHURCH STREET	22,		
WINSTON SALEM, NC 27101			

DREW FOUNDATION

FORM 990PE, PART XV - GRANTS AND CONTRIBUTIONS PAID DURING THE YEAR

77-0552387

ATTACHMENT 13 (CONT'D)

	RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR		•
	AND		
RECIPIENT NAME AND ADDRESS	FOUNDATION STATUS OF RECIPIENT	PURPOSE OF GRANT OR CONTRIBUTION	AMOUNT
BRAIN HEALTH REGISTREY	NONE	GENERAL CHARITABLE PURPOSE	.000.
P.O BOX 45339	PC		
SAN FRANCISCO, CA 94145			
EL CAMINO YMCA	NONE	GENERAL CHARITABLE PURPOSE	10,000.
2400 GRANT ROAD	PC		
MOUNTAIN VIEW, CA 94040			
ARMY A CLUB	NONE	GENERAL CHARITABLE PURPOSE	50,000.
698 MILLS ROAD	PC		
WEST POINT, NY 10996			
CALIFORNIA COLLEGE OF THE ARTS	NONE	GENERAL CHARITABLE PURPOSE	.000.
1111 EIGHTH STREET	PC		
SAN FRANCISCO, CA 94107			
WEST POINT ASSOCIATION OF GRADUATES	NONE	GENERAL CHARITABLE PURPOSE	500,000.
698 MILLS ROAD	PC		
WEST POINT, NY 10996			
MEALS ON WHEELS SF	NONE	GENERAL CHARITABLE PURPOSE	.000,00
1375 FAIRFAX AVENUE	PC		
SAN FRANCISCO, CA 94124			

DRE001-07

:	Z
Ċ	j
i	_
Ė	-
ì	1
ć	7
٠	>
6	=
i	₹
è	
-	7
3	z
Ċ	ì
Č	ż

2016 FORM 990-PF

77-0552387

FORM 990PF, PART XV - GRANTS AND CONTRIBUTIONS PAID DURING THE YEAR

ATTACHMENT 13 (CONT'D)

6,000. 40,000. PMOUNT PURPOSE OF GRANT OR CONTRIBUTION GENERAL CHARITABLE PURPOSE GENERAL CHARITABLE PURPOSE RELATIONSHIP TO SUBSTANTIAL CONTRIBUTOR FOUNDATION STATUS OF RECIPIENT NONE NONE PC 451 HUNGERFORD DRIVE, SUITE 605 225 N MICHIGAN AVE., FLOOR 17 RECIPIENT NAME AND ADDRESS ALZHEIMERS ASSOCIATION ROCKVILLE, MD 20850 CHICAGO, IL 60601 THE ACHIEVERS

2,785,050. TOTAL CONTRIBUTIONS PAID

PAGE 36 ATTACHMENT 13

DRE001-07

2.35·19 PM

93444A 517K 5/7/2018